Y3 - Autumn - Block 2 - Step 15 - Subtract 3-digit numbers from 3-digit numbers - no exchange
Answers

Question Answer

a) H T| O
358
-2/ 2|6
1/3(2
1 b) H T|lo
7 2 6
-3/0 3
423
a) HIT|lo
6 7 2
- 4171
2|01
- b) HToO
5 6 3
-11.5 1
4112
3 No, the greater number should be on top.
a) 355-240=115
~ 40 -200
100 155 355 400
115
4
b) 835 -501=334
-1 -500
YT N
I 1 1 1
30 334 335 835 200
5 £379
a) 224
6 b) 401
*-[4] A-[3] +-[4]@-[0]
2 O-[2] ¢ -[5]




Y3 - Autumn - Block 2 - Step 15 - Subtract 3-digit numbers from 3-digit numbers - no exchange
Answers (continued)

Question Answer

()

The difference between the two numbers is the same if 1is subtracted from both.
1,000 - 285=715
800 - 636 =164




